' 2018 (A) (/ 6)) A

SSC PART-Il (10th CLASS) "
P OGRAPHY SUBJECTIVE zﬂﬁ'.a’ 2
TIME ALLOWED: 2.10 Hours 210 =
MAXIMUM MARKS: 60 60 = A

-

NOTE: - Write same question number -g.(p;)Uf{..{,Jlrf.ﬁé 6/%2»'/.0':’0:{(}5’(}& iy
and its part number on answer book, as given in the question paper.
SECTION-l Lo

2. Attempt any six parts. 12=2x6 - ferlizg e 24w
()  Define Human Geography. NS
(1)  Explain the Stone Age Larbdiul A
(i)  Define Economic Geography. LGRS (i)
(iv) Wnat was the population of Africa in 20047 s ila s 2004 (iv)
(v}  Whatis the total population of Europe? fc—u? :2"57;)’574! (v)
(vi)  Whatis meant by Machine Age? femsl i g {vi)
{vii)  Wnite the names of four countries of Europe continent, LS v e iy
{viil) What is meant by Atomic Age? te et (vill)
(i¥)  Whatis meant by birh rate? WEZ AL W
3. Attempt any six parts. 1257 2x6 e lizge 3 3 Ay
{)  Define Cultural Geography % = ._efJ.jlj'?G‘ g ()
() What is meant by Settlement? b/ Teofe (i)
(i} What are the Rural Settlements? \9/ IEUSSS i
(vl  What is meant by Farmsiead? OO felpe s (i)
{v)  Define Urban Settlements, .u_.f.Jﬂ/Jur“o,( (v}
(vi)  Write a short note on Linear Settlements % =Y ..r*/,u:’ J’; (v1)
(vil)  Write down any three social problems of Urban Settisments 'L‘W‘}/ vl L usse (il
(villj  Whst 1s Town? '-".,_"..,.4__4’ (i)
(ix)  Explain the Hamiet, Eoobfsfed (i)
4. Attempt any six parts. 12=2x6 Efeyplizge 3 -4 A
(i What is meant by Environment? fedpfe Jrl ()
(i} What are Decomposers? gl kst G
{ily  What is meant by Hydrosphere? teavee s (i)
(iv)  What is meant by Map? fe. Aol 2 (i)
{v)  Define Landslide, LRl W
(vi)  Define Scale. EaAls W)
{vill  What is meant by Conventional Signs? Sedpcchbny (W)
(vit Define Human Environment EaAIngA (il
(ix)  Whatis meant by Drought? feirfe S )

SECTION-Il roe
NOTE: - Attempt any three questions. 24=8x3 -é}fawﬁ:.wrd;éf -d

5 Wiite tne range of Human Geography and its scope, -,;_("L 2B Nl =y, U*RJL?' -5
6 Describe the factors affecting population distribution .;ﬁ;}u [ ZIRTPAR /u /‘{,‘J ATLETR R
7. Wirite a detalled note on patterns of Rural settiements .é_,;;__,- o .wv.,fd., 7
8  Write 2 detailed note on Environmental problems. Al .;vu v .8
9 Describe the methods of determining the North. LB I 8
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PA.P!ER CODE 2018 (A) A
NUMBER: 3121 SSC PART-Il (10th CLASS)

GEOGRAPHY OBJECTIVE (.o SR
TIME ALLOWED: 20 Minutes 22220 = &N
MAXIMUM MARKS 15 15= AF

A of 4 IR L Rane u.hé{.»&.v&.ﬁr;{qrq‘z ~FELEIDANCBA Rl Ll Jirg e
L4 KA LS L2l K P Cods L SE S Sk | L S pivagie i s
Note: You have four choices for each objective type question as A, B, C and D. The choice -¢.C:J"/,;.=.wr
which you think is correct, fill that bubble in front of that question number, On bubble sheet, uso marker or pen
to fiil tho bubbles. Cutting or filling two or mors bubbles will result in zero mark in that question. Attemnpt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES aro not filled. Do not solve question on this sheot of OBJECTIVE PAPER,
Q.No.1 A Ay
{1) The peopie of temperate zone are of - I s ()
(A) Red complexion #éf, » (B) White complexion (i
|C) Biack complexion s 0% (D) Yellow complexion (Yui

(2) According t0 2004 statistics ____ people LR uhegEly Coidel bl 2004 (2)
of Pakistan lived in oity areas (A)24% (B)3a (C) a4 % {D) 50 %

(3) Typesof North ara 0, -ArdE (3)
(A) One £ {8} Two » () méoﬁ ’ (D) Four

{4) The Gobi desert is situated in- /& ) = Oudfr (@
(A) Afrca (2500 (B) Asia 2Lz (C}) Europe v:.,/@ (D) America J2¢

(5} Tre valley of the river Hawang Mo is situated in - . e ::ermJ sl Lo {5)
{A)India 2o (B) Paiistan 2uefy  (C) Nepal 2y GO/ (D) China 2o

(B) Basically the types of envircnment are;- (/ APPSR M 8)
{A) Twio 1 (8) Four s (C) S & t &7

(7). The cifferanice betwean birth rate and death rate is technicaly -BE Il s L Pt

lefmed asi- (A) Death rate /s, 7 (B} Birih rate Hgt 2 (C) Migration =# (D) Natural increase Sl 3

(8) Conventional signs can be divided into —__pars .(‘.C*Fyl_";’.} .:K,'r*' Y :f;.m.,n,f (8)
(A) Two » (B) Three o (C) Four . (D) Five §4

{9) Alps mountain is sduated in-- -g.(‘jb :g:_J-‘h (8)
(A) Asia 22 (B) Affica 2.3 (C) America 2§ (D) Europe Ay

{10) Tertiaty directions are-- -2 EURE 10)
(A) Eight #7 {B) Ten _n (C} Twelve | (D) Fourteen 1

R City was ruined due to earthquake in 1935 Dt _ eafllif 935 (19)
(A) Karachi &1 (B) Lahore .y (C) Quetta =/ (D) Multan

(12) Istamabad is situated in - =it ___wpwr  (12)
(A) Pakistan ;ﬁab’g (8) Egypt 2 (C) India L=, (D) China (&%

(13} In 1800, the world population was ___ crore B silenz 1860 (13)
(A) 40 (B) 50 {C) 60 ) 70

{14} Industial revolution came in - _}r..-l;;._'?" (14)
(A) 1850 A D (B)1750 A D (C) 1850 AD (D) 1950 A D

{15) Rockiz mountain is situated in' <ONE M t1m)
(A) South America /107 (B) Argentina ftz/  (C) Brazi! it (D) North America § »1(i
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